consent  from

written

except by

nof be repréduced, copied, loaned, exhibited, or used in

any ofher way,

- PARSONS to the borrower.

They are loaned only with fhe

This document and the deskyx?f ﬁover$ abé the’prOperTy
borrower's expressed written agreement that they will

of PARSONS .

L R N T T T I

3 ‘ , 2 : DATET 10/22: 96 FIME: 1820458 3£
: ‘ ‘ ‘ ‘ DESIGN FILE: I:\ligo\site2\ee\iae407. dgz

_— | | POST ———

DRILL 5/16"
TAP 3/8"-16 E
J/4" FULL THREAD MIN

POST ————> | e GATE

0:‘? OR

) SECTION

QO
Ei]/ I SEE NOTE BELOW

GRADE-
>
__\ -

~ t (TYP. 2 PLACES) _ —
{-} m ’ GRADE- g : V o §M
. 7 \ ik
& e -
f s oo
%10 THW GREEN INSULATED
ELEVATION NOTE: g{ ?EP/L]E}NG[}; g/g'ND LOOP, - - g}?g%@% D Pg 32{3[ R

IF GROUNDING PAD

INSTALL SERVIT POST _J SEE PLAN DWG. ——* | , " m
IN XEMR/EQUIPMENT BASE - 1
K | ELEVATION
' | LIST OF MATERIAL LIST OF MATERIAL | LIST OF MATERIAL LIST OF MATERIAL | | 0
| HTEM) o7y DESCRIPTION M\ ory DESCRIPTION ITEM o1y DESCRIPTION | ITEM| ory DESCRIPTION
|| 2 | SERVIT POST TWQ #2-#2/0 WIRES SHORT STUD JA_| I | GROUND CONNECTOR - 2" DIA POST, BURNDY TYPE GDI826 IA | | | GROUND CONNECTOR - 2"DIA POST, BURNDY #GARI826 / /| LUG, #1/0-2/0 WIRE, BURNDY TYPE QA26-B
BURNDY TYPE K2C-26 1B | 1| GROUND CONNECTOR - 2 1/2" DIA POST, BURNDY TYPE GD/926 /8 | | | GROUND CONNECTOR - 2_1/2 "DIA POST, BURNDY *GARI926 (USE_BURNDY #Q2A26-N WHEN USING 2 CABLES)
IC | | | GROUND CONNECTOR - 3" DIA POST, BURNDY TYPE GD2026 IC | | | GROUND CONNECTOR - 3"DIA POST, BURNDY *GAR2026 | 2 | 1 |BOLT, 3/8™16 X 3/4"LG HEX HD DURIUM
2 | | GROUND CONNECTOR - | 1/2" DIA TUBE, BURNDY TYPE GARI726 ‘ 3 | | L OCKWASHER, 3/8" SPRING DURIUM
3 | AR | FIEXIBLE COPPER GROUND BRAID 100A RATING, BURNDY MFGR.
| TRANSFORMER/EQUIPMENT GROUNDING /T ser FENCE GATE GROUNDING /2™ ser FENCE POST GROUNDING [T\ ar L IGHTING POLE/BOLLARD GROUNDING /T\ser
N.T.S. — ] E-112 | N.T.S. — J =112 , N.T.S. | \—/ £-202 N.T.S. ' \—/

£-202 £-202

| Eme 000
X

| " CONCRETF
|  FounpaTion FLUSH
1 FINISHED
GRADE \

# B | IR

|

L

SIDE VIEW

\{5
S
S
S
S
S
Q
S
\p
§
i
n
<o
=
S
ey
3
T
-

GR

£
—

LIST OF MATERIAL

| ‘;v TgM orY DESCRIPTION
;| 1 |CLAMP, GALV STEEL | /4" DIA CONDUIT
2 | 1 |\BoLT, 1/47-20 x 1"LG HEX HD SST
3 | /1 |EnD BELL, FOR | 1/4" DIA PVC CONDUIT _
4 | AR |CEMENT FOR PYC CONDUIT AND FITTINGS
i | 5 | 777 \conpurr PVC 1 174" DIA SCH 40
6 | 1 |ANCHOR, MASONRY 1/4"-20
7 CLAMP BACK, | 1/4, GALV STEEL
g | | |WASHER, 1/4 *"FLAT SST

GROUNDING CABLE PROTECTIVE SLEEVE (5 aer

N.T.S. — ) E-112
£-202
£-208 |
; 7N 1SSUED FOR CONSTRUCTION ‘ LASER INTERFEROMETER |
DROMN ') | | \Q | GRAVITATIONAL-WAVE OBSERVATORY
0 @ ENGINEER | 4 Jo -25-9¢ % | T NO. Ol V N , T N ANA |
e = ) pARSONS | NS LR NO. 2 o LN O, T
: : | 100 WEST WALNUT STREET CALIFORNIA INSTITUTE oF TECHNOLOGY 1o GROS;_JB?@I%?%AILS R S PP150‘969 ik
C = | I l ~ PASADENA, CALIFORNIA MASSACHUSETTS INSTITUTE OF TECHNOLOGY | sHEeT3 . | LA-E-407 |0\
| “DRAWING NO. _ Dt—:‘stmmom | Nno.] pete BY | CHKD | ENGR 'PRQJ | ‘DESCRIPTION | | i ; i - - ‘ - L R e S e e e e N SRS ‘ e

B | 2 o Lre0-D9sI3 —00-0 | Lisoersms

5 | 4




	072.pdf

